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High performance with easy handling!
Possible to detect transparent object!
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Model No. LWA-10KC LWA-10KA
Power source DC12 1o 24V (5%, +107a)
Current consumption 120mA 24V or less, 180mA 12V ar less, including snalog output current
. e == g e —
Light source ?ﬁmﬂKEEmm width, Visible red semiconductor laser, JISNEC Class 2 {Wavelength §50nm, max power
Detectable range 100:+25mm

Light-projecting area

0.3mm X32mm width

Light-receiving area

Width 17mmifdistance 7omim to width 2fmmidistance 125mm

Linearity** +0.5%F3 (Z direction)
Resolufion*? 50 pem {Z directon)
Sampling cycle J3msec or fess
 Output MNPN open-callector output | PNPopen-collector owtput
Control output 100mA 30VDC or less (Hesidusl voltsge 1.8V or less) 3 gutput
Analog output 4 1o 20mA, 24mA for cut of meaasuring range {Load impedance 3000 or less)
Load dependence +005% _
Temperature drift +0.05%F5/C
Circuit stable fime 3min or fess
Laser life Approx. 50,000 hours (at 407C)




Indication lamps

Dulpu!‘. lamp: Drafg;e LED, Laser radiating ?rﬂg Green LED

Ambient illuminance Sun light: 10,000lux or less, incandescent lamp: 3,000Hux or less

Ambicnt$ b ey E‘:ii;::';: {-20 to +B0T when stored), 35 to 85%:AH (35 to 95%:0H when stored) Not icing, not
Bank & (8 kinds of measuring condition can be registered and changed)

Window size Possible o 221 (128X 472 10 416 X472 4 steps)

Vibration resistance Dioubie amplitede 1.5mm, 10 10 55Hz, each 2 hour in X, ¥ and £ directions

Impact resistance 450mds*, each 3 time in X, Y and 2 directions

Protective structure IPGE (IEC standard)

Case materials Body: zinc discasting/polycarbonate, projectonTeceiver window: glass

Weight Approx. 250 (excluding sttached cable)

Accessory Cable (2m long), screw

= 4. Maasuring object: white ceramic, [IMG GAINE 0.
*2 Measuring object white ceramic at center measuring distance, [IMG GAIN]: 0.
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